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1
ÀÔÏÔÁ›˙ˆ Î·È Û˘ÌÏËÚÒÓˆ ÙÔ˘˜ ·ÚÈıÌÔ‡˜.
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14 – 6 = 16 – 7 = 

13 – 5 = 17 – 9 = 

12 – 5 = 13 – 7 = 
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3

4
ÃÚˆÌ·Ù›˙ˆ Ù· Ì·ÏfiÓÈ· ÌÂ ÙÔ ̄ ÚÒÌ· Ô˘ Ú¤ÂÈ.

ÂÓfiÙËÙ· 7Ë

2. ¶ÚÔÙÂ›ÓÔ˘ÌÂ ·ıÚÔ›ÛÌ·Ù· Ô˘ Â›Ó·È ‰˘Ó·Ùfi Ó· ̆ ÔÏÔÁÈÛÙÔ‡Ó ÌÂ ÙË Ì¤ıÔ‰Ô ÙË˜ ̆ ¤Ú‚·ÛË˜ ÙË˜ ‰ÂÎ¿‰·˜ 

(.¯. 8 + 5, 9 + 7, 3 + 8 Î.Ï.).

2
ÀÔÏÔÁ›˙ˆ Î·È ÁÚ¿Êˆ ÙÈ˜ ÚÔÛı¤ÛÂÈ˜.
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14

ÀÔÏÔÁ›˙ˆ Î·È Û˘ÌÏËÚÒÓˆ ÙÔ ·ÔÙ¤ÏÂÛÌ·.

9 + 8  = ... 7 + 4 = ... 4 + 8 = ...

17 – 8 = ... 11– 4 = ... 12 – 4 = ...

18 + 4 = ... 17 + 5 = ... 19 + 4 = ...

22 – 4 = ... 22 – 5 = ... 23 – 4 = ...


